pT ®
C PRODUCT & SERVICE ADVANTAGE®

Migrating Legacy
Fasteners to IFX




Populating Screws.mnu

Located in Screws folder

bw Screw Fastener Definition X

Catalog jim - i
_/screws.mnu | s

| Jim's custom fasteners |

-

Z71im Folder name
1m's custom fasteners Tool Tip

m's custom faatenera— Localization of Tool Tip

M10 - |12

2 x 20000 - Bl B

NE")

« Creo 3.0 » MO30 » Common Files » afx » parts » screws_and_pins P screws P jim v|+-yH Search jim P|

<]

© File Edit

iew Tools Help

Organize Include in library ~ Share with ~ Slide show Burn New folder = - [ ﬁ
I pins *  Name Date Type Size Tags
| sCrews
Jim.mnu 27/02/2015 11:41 MNU File 1KB
| ANSI-ENGLISH )
|4 jim_iso_4014.dat 2770242015 10:31 DAT File 1KB
| ANSI-METRIC S _
|9 jim_iso_4017.dat 27/02/2015 1142 DAT File 1KB
HoloKrome
inch

inch-structural
o]

C jim
b JIS




Populating custom Screw mnu file

Mapping of file content

< Jim.mnu |

#

#
Jim_iso_4017.prt
Jim's I30 4017 BT

Jim's IZ0 4017 sc

Jim_iso_4014.prt

Jim's IS0 4015 screw
Jim's IS0 4015 screw

| screws
ANSI-ENGLISH
ANSI-METRIC
Holokrome

inch

IS0

I

I

|

I

| inch-structur
I

. Jim

|

s

Name of dat file with

.prt appended
Tooltip Information
Localization of Tooltip

F

Mame

jim.mnu
|9 jim_iso_4014.dat
|9 jim_iso_4017.dat

Catalog

Screw
P- 1250

Side 1
Washers

Screw Fastener Definition

jim -

[njr Jim IS0 51%17 ~

Jim ISQ 4017 screw | 7

[] | &=® Jim GTSH Washer

O | &=® Jim GTSH Washer

The *.mnu file name must be the same as the name of containing folder.

»



Populating Custom Screw *.dat file

M . f ful ‘t t @@ﬂl « Cr;:a 3.0 » MO30 » Common Files » afx » configuration » types » screw » screw 20 v‘*}” Search screw_20 P|
— = 3 = a= 5 = L -
a p p I n g O I e CO n e n i File Edit View Tools Help
= = Organize v Include in library ~ Share with ~ Slide show Burn New folder = - P
~ jim_iso_4014.dat * | g W e
I [l Ioafx i - .
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T L
| IS0 4014 - 8.8 | configuration \ _ _—
| | drawing_templates 'J’l l = [
! Hexagon head screw with shank, | types : ) . ¢‘ [ﬁ
! Sechskantschraube mit Schaft, L inserts - :
| mm e e e L nut screw_20.dat screw_20.qif screw_20.prt screw_20_detail.g screw_20_icon.gif
- if
SCREWTYPE 20 — k. pin
IMIT MM | screw
screw_01
SURFACE 495 screw 02

)
)

BHIS 1440 | screw_ 03

CESCR  DIN974-2 R1

THFO Jim TS0 4014 g saew 2 1

SYMEOL STRING DN LG B 8 K DG P BUW_MNAME EUW_TYPE BUW _SIZE
INSTANCE STRING DM LG B 3 K DG F name type size
mbx70-din®31 MB ] 70 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 70 - 8.8
mbx75-din®31 MB ] 75 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 75 - 8.8
mbx80-din®31 MB ] g0 18 10 4 5 1 hexheadscrew IS0 4014 M6 x B0 - 8.8




Populating Custom Screw *.dat file

Mapping of file content Fick From Lt
o . ; Edge:F2(NEUTRAL) ID=177
_ jim_iso_4014.dat * | Edge:F2(NEUTRAL) ID=1377
I Edge:F2(NEUTRAL) ID=489
! I50 4014 - 6.8 Edge:F2(NEUTRAL) ID=1383
: Hexagon head screw with shank., product grades A and Edge:F2ANEUTRAL) ID=1351
; : - Edge:F2(NEUTRAL) ID=837
|
o sechskantschraube mit Sohalt. Broduktklas g v . Surf F2(NEUTRAL) ID=495
' Surf F2(NEUTRAL) ID=835
SCREWIYPE + 4
IMIT MM
SURFACE 495
AvTe 1440 OK Cancel
CESCR  DIN974-Z
INFO Jim IS0 4014
SYMEOL STRING DN BUW_SIZE
INSTANCE STRING DN size
m6z70-din931 M& 6 70 18 10 4 5 A_1:F3(DATUM AXIS) ID=1440 M6 =z 70 - 8.8
m6z75-din931 M& 6 75 18 10 4 5 M6 z 75 - 8.8
m6z80-din931 M& 6 80 18 10 4 5 M6 z 80 - 8.8

config.pro option show_selected_item_id yes



Populating Custom Screw *.dat file

CBSCR mapped to \afx\configuration \s|_data.cfg

 jim_iso_4014.dat * |

IS0 4014 - 8.8

Hexzagon head screw with shank, product grades & an” F
Sechskantschraube mit Schaft, Produktklassen & und

SCREWIYPE 20 | o
UNIT MM
#CBSCE DM DIM974-2 E1 DIM974-2 RZ2
SURFACE 495 JSI5! 1 2.2 0
XIS 1440
| GIGH 1.2 2.5 1]
CBICR  DIN974-2 Rl —
INFO Jim IS0 4014 M o 3 o
GIGH 1.8 3.5 3.5
SYMBOL STRING DN LG B S E M 1.8 3.3 0
INSTENCE STRING DN LG B S E iy 5 44 5
mEx70-din931 ME & 70 18 10 4 MM 2.5 5.5 2] 8.8
mpx75-dind31 ME B 75 18 10 4 MM 3 £.5 7 B.8
mexB0-ding31 ME B B0 18 10 4 M 3.5 6.5 g B.8




Populating Custom Screw *.dat file

Mapping of file content

 jim_iso_4014.dat * |

IS0 4014 - 8.8

Hexagon head screw with shank, product grades & and B

!
I
I
| Sechskantschraube mit Schaft., Produktklassen & und B

SCRE PE 20 b Screw Fastener Definition x
LNIT 5151
SURFACE 4495 Catalog jim - »

2HIE 1440

CBSCR DIN974-2 E1
INFO Jim 150 4014 EEMEEE——Ep ] smiso ot .

SYMBOL STRING DN LG B BUW_TYPE BUW_SIZE
INSTANCE STRING DN LG B Thread M6 ~| |38 x| 70000 |~ | B\ R type size
m6x70-din931 M6 6 70 18 Side 1 - IS0 4014 M6 x 70 - B.8
mex75-din931 M6 6 75 16 Washers IS0 4014 M6 % 75 - 8.8
- IS0 4014 M6 x BO - 8.8

mbx80-din931 Mb a g0 15




Populating Custom Screw *.dat file

Mapping of file content

_ jim_iso_4014.dat * |

I=0 4014 - 5.8

Hexagon head screw with shank. product grades A and B

|
|
|
| sechskantschraube mit Zchaft, Produktklassen & und B

SCEEWIYPE 20
UNIT b

SURFACE 495
A¥IS 1440
CBECR DING74-2 R1
INFO Jim IZ0 4014

SYMEOL STRING DN LG B 8 K DG P BUW_MNAME EUW_TYPE BUW _SIZE
INSTANCE STRING DM LG B 3 K DG F name type size
mbx70-din®31 MB ] 70 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 70 - 8.8
mbx75-din®31 MB ] 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 75 - 8.8
mbx80-din®31 MB ] 18 10 4 5 1 hexheadscrew IS0 4014 M6 x B0 - 8.8

bw ew Fastener Definit X
Catalog ji - i
Screw i
Jim ISO 4014 -
P:1.000

Thread M6 ~ || x| 70000 ~ B H
Used for matching the

——— 7 nut The pitch of the nut
i must match the pitch of
the fastener




Populating Custom Screw *.dat file

Mapping of file content

_ jim_iso_4014.dat * |

I=0 4014 - 5.8

Hexagon head screw with shank. product grades A and B

|
|
|
| sechskantschraube mit Zchaft, Produktklassen & und B

SCEEWIYPE 20
UNIT b

SURFACE 495
A¥IS 1440
CBECR DING74-2 R1
INFO Jim IZ0 4014

SYMEOL STRING DN LG B S K DG P BUW_MNAME EUW_TYPE BUW _SIZE
INSTANCE STRING DN LG B S K DG F name type size
mbx70-din®31 MB ] 70 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 70 - 8.8
mbx75-din®31 MB ] 75 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 75 - 8.8
mbx80-din®31 MB ] g0 18 10 4 5 1 hexheadscrew IS0 4014 M6 x B0 - 8.8
% 2D - Preview
SCREWTYPE 20
s | ]
= 15.000
B K . 2
DN 20.000 20.000
LG r r
DG
B LI
P




Populating Custom Screw *.dat file

Mapping of file content

_ jim_iso_4014.dat * |

I=0 4014 - 5.8

Hexagon head screw with shank. product grades A and B

|
|
|
| sechskantschraube mit Zchaft, Produktklassen & und B

SCEEWIYPE 20
UNIT b

SURFACE 495
A¥IS 1440
CBECR DING74-2 R1
INFO Jim IZ0 4014

SYMEOL STRING DN LG B 8 K DG P BUW_MNAME ELUW_TYPE BlW _SIZE
INSTANCE STRING DM LG B 3 K DG F name type size
mbx70-din®31 MB ] 70 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 70 - 8.8
mbx75-din®31 MB ] 75 18 10 4 5 1 hexheadscrew IS0 4014 M6 x 75 - 8.8
mbx80-din®31 MB ] g0 18 10 4 5 1 hexheadscrew IS0 4014 M6 x B0 - 8.8

Can be deleted for custom fasteners

10



Populating washers.mnu

Located in Washers folder

< J1im - o|dcr Name

's custom fasteners (e—"ooltp Information
's custom ftasteners (e ocalization of tooltip

= ) e |

Crec 3.0 » MO30 » Common Files » afx » parts » screws_and_pins » washers » Jim ""?H Search Jim p|

Tools Help

Organize = nclude in library = Share with = Burn Mew folder = o~ j 'ﬁ
b i Name Date modified Type Size
> SCrews
Jim.mnu 27/02/2015 10:31 MMU File 1KB
4 ashers -
|4 jim_gtsh_washer.dat 27/02/2015 10:31 DAT File 1KB
ANSI-ENGLISH )
|9 jim_nordlock_washer.dat 2770272015 10:31 DAT File 1 KB




Populating custom Washers mnu file

Mapping of file content

< Jim.mnu *

#
#

jim_nordlock_washer.prt Name of dat file with .prt appended
Jim's Hord-Lock washer Tool Ti

Jim's MNord-Lock h 001 '

Jiﬂ Etaﬁrwasﬁzr_gii = Localisation of Tool Tip

Jim's GT5H washer
Jim's FT5H washer

| washers o Name
ANSI-ENGLISH
ANSI-METRIC

| Jim.mnu

|
| —
4 jim_gtsh_washer.dat

| HoloKrome o
) 4 jim_nordlock_washer.dat

. inch

| inch-structur

| ISO

b, Jim

| IS

The *.mnu file name must be the same as the name of containing folder. ..



Populating custom Washer dat file

@O"' <« M030 » Common Files » afx » configuration P types » washer » washer_01 v“’” Search washer 01 P|
Mapping Of file Content ' File Edit View Tools Help
Organize ~ Include in library ~ Share with = Slide show Burn New folder = - fﬂ 'ﬁ
| MO020 o ,
" jim_nordlock_washer.dat * | 4 mo30 o J B
4 | Common Files —
B . Jd © =
) 4} afx i i
! Nord-Lock washers: P —— L ‘ =B
I Gtesel washers with zing flake o | drawing_templates washer_01.dat washer_01.gif washer_0lprt washer_01_detail. washer_01_icon.g
! WL3 1 NL42 (standard sizes) and AWy oif i
| :
: > | inserts
I HMord-Lock Eeilsicherungsscheihe N
I Standard- Stahl mit Zinklamelle > B pin
! ML3 | NL4Z (Standard) und NL45 > I screw
- | udf E
4 | washer
WASHERTYPE | I | b w1
UNIT M | washer_02
SURF?&CE B 1 | washer_03
.IEEXI S El ? | washer_04
THFO Jim's Hord-Lock | washer 20
I washer 40
SrMBOL DM H DH1 DH 2 Bl HWAME Biw_TYPE Bllw_SIZE
INESTANCE DR H Dh1 Dk 2 name type Size
wil_02_n001_0060_0000 b 1.8 B.3 10.8 washer Nord-Lock NLe (1219)
wi_0Z_n001_0100_0000 10 2.5 10.7 16.6 washer Nord -Lock NL10 (1244

13



Populating custom Washer dat file

Mapping of file content

" jim_nordlock_washer.dat * |

! _____________________________________________________
! Nord-Lock washers:

I Stee]l washers with zinc flake coating De

I BL3 I BML4Z (standard sizes) and WL45 1 Ml

!

I Nord-Lock KEeilsicherungsscheihen:

I Standard- Stahl mit Zinklamellenbeschich: glish).
! WL3 I ML4Z2 (Standard) und HL45 I HL130 (:

! _____________________________________________________
WASHERTYPE

URIT JGIG |

SURFACE 31

AHIS 67

INFO Jim

STMBOL

IHSTANCE

wil_02_n001_0060_0000 & 1.8 9]
wl_02_n001_0100_0000 10 2.5 44

A_2:F7(DATUM AXIS) ID=67

14



Populating custom Washer dat file

Mapping of file content

_ jim_nordlock_washer.dat * |

Nord-Lock washers:
Steel washers with zinc flake coating Delta Protekt® (zinc-flake coating).
BL3 I BML4Z (standard sizes) and WL45 | ML130 (upon regquest).

Nord-Lock Keilsicherungsscheiben: b Screw Fastener Definition X
Standard- Stahl mit Zinklamellenheschichtu | English).,
NL3 I NL42 (Standard) und HL45 1 NL130 (au Catalog jim - *
! __________________________________________________________
WASHERTYPE 1 e T smisoaorr .
UNIT bl o
SURFACE 81 M10 ~| 18 x| 20.000 |~
Thread X
BXIS 67 e = e
INFO  Jin's Nord-Lock MGG . | v s ook -
Washers -
SYMBOL oW H D1 DH O | =® Jim's Mord-Lock . °E
INETANCE Dby H DR 1 DM e Ly pe Slwe

wi_0Z n001_0060_0000 a]
wi_0Z_n001_0100_0000 10

. washer Mord-Lock WL (1219)
10.7 16.68 washer Nord-Lock WNL10 (1Z244)

R
o
o
=
—
]
]

15



Populating custom Washer dat file

Mapping of file content

_ jim_nordlock_washer.dat * |

Nord-Lock washers:
Steel washers with zinc flake coating Delta Protekt® (zinc-flake coating).
BL3 I BML4Z (standard sizes) and WL45 | ML130 (upon regquest).

|
|
|
!
I Nord-Lock KEeilsicherungsscheihen:

I Standard- Stahl mit Zinklamellenbeschichtung Delta Protekt® (Zinklamellenbeschichtung | English).
I NL3 I HML42 (Standard) und WL45 | WL130 (auf Anfrage).

WASHERTYPE 1

UNIT b

SURFACE 81

2EIE b7
INFO Jim's MNord-Lock

STMBOL DX H DH1 DNZ2 Bl _HAME Bl _TYPE Bl _SIZE
INETANCE Dby H DR 1 DRZ name type size

wi_0Z n001_0060_0000 4] 1.8 6.3 10.8 washer Hord-Lock HLe (121%9)
wil_0Z_n001_0100_0000 10 5 10.7 16.6 washer Nord-Lock HNL10 (1244

% 2D - Preview

WASHERTYPE 01
DNZ2

DNA1
15.000 |
Z500] 3 I H |
|

20.000

16



Populating custom Washer dat file

Mapping of file content

" jim_nordlock_washer.dat * |

Nord-Lock washers:
Steel washers with zine flake coating Delta Protekt® (zine-flake coating),
BL3 I HNL4Z (standard sizes) and WL45 | HWL130 {upon regquest).

Nord-Lock Eeilsicherungsscheihen:
Standard- Stahl mit Zinklamellenbeschichtung Delta Protekt® (Zinklamellenbeschichtung | English).

!
I
!
I
!
I
I BL3 I ML4Z (Standard) und WL45 | ML130 (auf Anfrage).

WASHERTYPE 1

LIMIT 5151

SURFACE 81

PN 67

INFO Jim's MWord-Lock

=YMBOL DX
INSTANCE DX

DMl DNz Bl _HRAME Bll_TYPE Bll_SIZE
DR 1 D2 nare type size

I T

wil_02_n001_0060_0000 b

washer Nord-Lock HLe [1219)
wi_0Z n001_0100_0000 10

10.7 16.6 washer Mord-Lock WL10 (1Z244)

M =
n ad
o
=
—
=
[wn}

Can be deleted for custom fasteners

17



Modifying nuts.mnu

Located in Nuts folder

_/nuts.mnu l

SJ1im 4= -0|der Name
's custom fasteners —<(e———ooltp Information

's rustom fasteners —Localization of tooltip

— | [E] -

< Creo 3.0 » MO30 » Common Files » afx » parts » screws_and_pins » nuts » Jim v|4'-yH Search fim ,{3|

: File Edit Tools Help

Organize - Include in library = Share with = Burn New folder = - j 'ﬁ

=

screws_and_pins *  Name Date modified Type Size
archive
. Jim.mnu 27/02/2015 10:31 MMU File 1KB
nuts
|9 jim_iso4032.dat 27/02/2015 10:31 DAT File 1KB
AMNSI-ENGLISH

ANSI-METRIC
oloKrome
ch

ch-structural

Jim
s

18



Populating custom Nuts mnu file

Mapping of file content

Jim.mnu

#
#
jim_iso4032.prt Name of dat file with .prt appended
Jim's IS0 4032 nut Tool Tip
Jim's IS0 4032 nut Localization of tooltip
I nuts *  Name .
ANSI-ENGLISH
| | Jim.mnu
ANSI-METRIC

4] jim_iso4032.dat
HoloKrome

inch

ISO
Jim
JIs

I

I

|

I

| inch-structura
|

|

I

. mm

The *.mnu file name must be the same as the name of containing folder.



Populating custom Nuts dat file

Mapping of file content ' P~
@©v|l « Creo 3.0 » M030 » Common Files » afx » configuration » types b nut » nut 01 v“y” Search nut_01 P‘
jim_iS-Dd-ﬂ'EE.dat*l ‘ File Edit View Tools Help
| o o e Organize ~ Include in library = Share with ~ Slide show Burn New folder = - j ﬁ
! IS[:' 4|:|32 4 | configuration i N
! HEXE.E{ on nut | . drawing_templates ' . y —
! nut_hex std 4% types d] i T
| e j___j _______________ [> | inserts TDE'N—] o
' 4 | nut

nut 01 nut_0l.dat nut_01.gif nut_01.prt nut_01_detail.gif nut_01_icon.gif

NUTTYEE 1 —|

)

| nut 02
I nut_20
I

)

)

UNIT JG1u1
SURFACE 9 o
XIS = )

nut_50
nut_51

INFD Jim's IZ0 4032
CBHUT DIN974-2 E1

m

|Enter the name of the Familvtahlepart
|

FAMPRT jim iso4032

|Zmartlibrary needs this wvalues to paint the Z2D-Preview in the dialog
land to fill the pulldowns in the dialog.

SYMEOL DN g 4 e p

INSTANCE DM ] E Dz P
#FAMTAR d5 d0 dl d4 P

20



Populating custom Nuts dat file

Mapping of file content

jim_is04032.dat * |

! IZ0 4032
! Hexagon nut
I nut_hex std

NUTTYFE 1
UNIT JG1u1
SURFACE 9
XIS =
INFD Jim's "%
CBHUT DIN974-2 R

|Enter the name of the Familytalh
| e W

FAMPRT jim iso4032

|Zmartlibrary needs this wvalues to paint the Z2D-Preview
land to fill the pulldowns in the dialog. [
| o o o !

SYMEOL DN g 4 e p f

THETARCE Dk o E DG F

#FAMTAR d5 d0 dl d4 P 1

21



Populating custom Nuts dat file

. . bw Screw Fastener Definition x
Mapping of file content __ )
Catalog Jim -

jim_is04032.dat * | Screw T smisos0n .
—_— P- 1500
! IZ0 4032 Thread M10 - |8 x 20000 |~ B1l|H
! Hezagon nut _
! nut_hex std Side1 L] =B Jim's Nord-Lock .
| o e ] Washers -
! O = Jim's Nord-Lock
MIITTYPE 1

Side 2 [ | = Jim's Nord-Lock

UHIT MM \Washers
=UJRFACE 9 O | == Jim's Nord-Lock
B¥TS b2

IMFO Jim's IZ0 4032 Nut & [ Jim's SO 4032 -
CEMUT DIN974-2 R1

|Enter the name of the Familvtahlepart
|

FAMPRT jim iso4032

|Zmartlibrary needs this wvalues to paint the Z2D-Preview in the dialog
land to fill the pulldowns in the dialog.

SYMBOL DI 5 K DG P

INSTANCE DM ] E Dz P
#FAMTAR d5 d0 dl d4 P

22



Populating custom Nuts dat file

CBNUT mapped to \afx\configuration \sl_data.cfg

jim_is04032.dat * |

I IS0 4032 i COUNTERBOREDIAMETERS FOR NUT'S

I
: Hexagon nut I INCH - ROW1 for Socket Head Cap Screws
! nut_hexz std | e e

| e e #CBMUT D DINS74-2 R1 DIN974-2 RZ DINS74-2 R3
MM 4 13 15 18
MM 5 15 18 11
NUTTYPE 1 MM B 18 20 13
UMIT b MM B 24 26 18
SURFACE 9 M 10 28 33 22
A¥IS g2z GIGH 12 33 36 250
INFO  Jim's IS0 4032 o " o b 0
CBHUT DIN974-2 R1 — MM 20 46 54 40
MM 24 53 73 48
|Enter the name of the Familvtahlepart ﬁﬁ %E ?% ;S g?
e MM 33 76 89 &9
FAMPRT jim_ iso403Z2 MM 36 82 93 73
MM 47 g 107 52

|Zmartlibrary needs this wvalues to paint the Z2D-Preview in the dialog
land to fill the pulldowns in the dialog.

SYMEOL DN g 4 e p

INSTANCE DM ] E Dz P
#FAMTAR d5 d0 dl d4 P

23



Populating custom Nuts dat file

Mapping of file content — Family table

jim_iso4032.dat * |

! IS0 4032
! Hexagon nut
I nut_hex stid

WUTTYFE 1

NIT bihd

SURFACE 9

AXIS 92

INFO Jim's I30 4032
CENLUT DIN974-2 R1

lEnter the name of the Familvtablepart

FAMPRT jim_isc4032

Name of Family table Generic

IZmartlibrary needs this wvalues to paint the Z2D-Preview in the dialaog
land to £ill the pulldowns in the dialog.

P
INSTANCE DM 5 K DG P
#FAMTAR db di dl d4 P
NUTTYPE 01 ’ \ i
15.000
DG
! r*— E
(E) K 20.000
, P
S— i DN \_[J J
|| 24




Populating custom Nuts dat file

Mapping of file content — Family table

jim_iso4032.dat * |

! IS0 4032
! Hexagon nut
I nut_hex stid

WUTTYFE 1

NIT bihd

SURFACE 9

AXIS 92

INFO Jim's I30 4032
CENLUT DIN974-2 R1

lEnter the name of the Familvtablepart

FAMPRT jim_isc4032

. . . . Family Table :JIM_ISO4032 -
IZmartlibrary needs this wvalues to paint the 2D-Previe File Edit Ineort Toole ! - =
land to £ill the pulldowns in the dialog.
| o o a e e _
i Look In: |JIM_IS04032 ARk BT E Mo i FE
STMBOL IH = E D3 2 .
INSTthE DN S K DG P ‘ Instance Name Common Na... 20 ﬂ1 g?; g?l P
H#FAMTAB d5 di dl 4 P JIM_IS04032 5.00 470 102 5.00 0.80

JIM_IS04032-M6 10.00 5.20 5.00 6.00 1.00

JIM_1S04032-M8 13.00 6.80 6.80 8.00 125

JIM_1S04032-M10 16.00 8.40 8.50 10.00 1.50

L
= Open
OK Cancel




